[ normalized x? probability |

g IH‘ ’I
= I I
5l I \

HiH1

1] | Il yn M
muemm 'H|||\=mH|
0.95 LI !

0 0.1020304050.60.7080.

1
Prob(x2)

W2 4 6 8 10 12 14 16 18 20
2

mmmem DQM_NOFit2_step2_ttbar-phasel-newgeom
w—— DQM_Fit2_step2_ttbar-phasel-newgeom

wmmmm DQM_Fit2AndCPEGeneric_step2_ttbar-phasel-newgeom
weses DQM_Fit2AndCPETemplate_step2_ttbar-phasel-newgeom

A 2r

g P bbb

S 1gp--e-- e Peeees ERR. e Peeees
3 : : . : :

=< F : : : : :
Vo1ef-c-- e Beeeeedeeees e Feeees

Ratio

< X2/ ndf >
< X2/ ndf >
=
00

i
T T[T [T [T T I [T TIT T

Ratio
Ratio

107 1072

1 -1
AR(track, jet?



	Contents
	Page 1


